SB035-24 On-Demand Installation of New Gas Mains and New Gas Services on an Annual Contract Gas Department

					nd Harrison, nc.	Pike Gas Services, LLC		Southeast Connections, LLC	
ITEM#	DESCRIPTION	APPROX. QTY		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	2-inch polyethylene gas main	30,000	LF	\$7.00	\$210,000.00	\$7.67	\$230,100.00	\$13.87	\$416,100.00
2	4-inch polyethylene gas main	10,000	LF	\$12.00	\$120,000.00	\$16.28	\$162,800.00	\$17.50	\$175,000.00
3	6-inch polyethylene gas main	500	LF	\$16.00	\$8,000.00	\$31.63	\$15,815.00	\$34.39	\$17,195.00
4	2-inch polyethylene gas main bore	5,000	LF	\$16.00	\$80,000.00	\$28.93	\$144,650.00	\$36.95	\$184,750.00
5	4-inch polyethylene gas main bore	1,250	LF	\$25.00	\$31,250.00	\$38.73	\$48,412.50	\$48.18	\$60,225.00
6	6-inch polyethylene gas main bore	200	LF	\$32.00	\$6,400.00	\$60.07	\$12,014.00	\$69.41	\$13,882.00
7	2-inch polyethylene gas main directional rock bore	500	LF	\$82.00	\$41,000.00	\$109.35	\$54,675.00	\$124.37	\$62,185.00
8	4-inch polyethylene gas main directional rock bore	500	LF	\$115.00	\$57,500.00	\$135.47	\$67,735.00	\$160.95	\$80,475.00
9	6-inch polyethylene gas main directional rock bore	100	LF	\$145.00	\$14,500.00	\$181.33	\$18,133.00	\$182.90	\$18,290.00
10	2-inch polyethylene valve installation	10	EA	\$57.00	\$570.00	\$460.17	\$4,601.70	\$365.11	\$3,651.10
11	4-inch polyethylene valve installation	10	EA	\$57.00	\$570.00	\$613.57	\$6,135.70	\$456.39	\$4,563.90
12	6-inch polyethylene valve installation	1	EA	\$57.00	\$57.00	\$1,533.91	\$1,533.91	\$608.52	\$608.52
13	2-inch polyethylene main tie-in	10	EA	\$580.00	\$5,800.00	\$1,964.56	\$19,645.60	\$3,210.19	\$32,101.90
14	4-inch polyethylene main tie-in	10	EA	\$950.00	\$9,500.00	\$3,345.09	\$33,450.90	\$3,976.16	\$39,761.60
15	6-inch polyethylene main tie-in	2	EA	\$1,000.00	\$2,000.00	\$5,463.04	\$10,926.08	\$5,518.88	\$11,037.76

16	1/2 and 3/4-inch PE short-side service, tap and tie over	30	EA	\$625.00	\$18,750.00	\$909.08	\$27,272.40	\$2,105.96	\$63,178.80
17	1/2 and 3/4-inch PE long-side service, tap and tie over	30	EA	\$850.00	\$25,500.00	\$1,585.45	\$47,563.50	\$2,505.03	\$75,150.90
18	2-inch PE short-side service, tap and tie over	5	EA	\$850.00	\$4,250.00	\$1,818.15	\$9,090.75	\$3,851.90	\$19,259.50
19	2-inch PE long-side service, tap and tie over	5	EA	\$1,250.00	\$6,250.00	\$3,395.45	\$16,977.25	\$5,098.99	\$25,494.95
20	4-inch PE short-side service, tap and tie over	2	EA	\$1,400.00	\$2,800.00	\$3,787.82	\$7,575.64	\$6,262.58	\$12,525.16
21	4-inch PE long-side service, tap and tie over	2	EA	\$1,400.00	\$2,800.00	\$5,668.14	\$11,336.28	\$7,759.09	\$15,518.18
22	2-inch tap, stop, or bottom-out steel tie-in	2	EA	\$1,500.00	\$3,000.00	\$3,883.04	\$7,766.08	\$4,700.51	\$9,401.02
23	4-inch tap, stop, or bottom-out steel tie-in	2	EA	\$6,630.00	\$13,260.00	\$6,569.08	\$13,138.16	\$6,867.87	\$13,735.74
24	6-inch tap, stop, or bottom-out steel tie-in	1	EA	\$7,200.00	\$7,200.00	\$7,474.66	\$7,474.66	\$17,653.42	\$17,653.42
25	Blast/hammer rock removal price per linear ft.	600	LF	\$50.00	\$30,000.00	\$97.70	\$58,620.00	\$65.75	\$39,450.00
26	Placement of locate stations/markers	100	EA	\$50.00	\$5,000.00	\$155.41	\$15,541.00	\$116.42	\$11,642.00
27	1/2-inch PE short-side service and tap	650	EA	\$600.00	\$390,000.00	\$833.95	\$542,067.50	\$1,792.24	\$1,164,956.00
28	3/4-inch PE short-side service and tap	17	EA	\$600.00	\$10,200.00	\$833.95	\$14,177.15	\$2,184.70	\$37,139.90
29	1/2-inch PE long-side service and tap	323	EA	\$870.00	\$281,010.00	\$1,425.34	\$460,384.82	\$2,394.43	\$773,400.89
30	3/4-inch PE long-side service and tap	10	EA	\$870.00	\$8,700.00	\$1,626.54	\$16,265.40	\$2,602.64	\$26,026.40
31	2-inch polyethylene gas service – short-side	15	EA	\$1,160.00	\$17,400.00	\$5,048.38	\$75,725.70	\$4,500.80	\$67,512.00
32	2-inch polyethylene gas service – long-side	8	EA	\$1,450.00	\$11,600.00	\$5,982.51	\$47,860.08	\$5,278.72	\$42,229.76
33	4-inch polyethylene gas service – short-side	1	EA	\$2,000.00	\$2,000.00	\$6,731.17	\$6,731.17	\$6,960.54	\$6,960.54
34	4-inch polyethylene gas service – long-side	1	EA	\$2,500.00	\$2,500.00	\$11,965.02	\$11,965.02	\$8,551.52	\$8,551.52
35	Adder for service lines over 500 feet long	20	EA	\$600.00	\$12,000.00	\$3,108.26	\$62,165.20	\$6,150.21	\$123,004.20
36	3/4-inch Dual Pressure service – short-side	6	EA	\$1,400.00	\$8,400.00	\$5,898.62	\$35,391.72	\$3,085.20	\$18,511.20

37	3/4-inch Dual Pressure service – long-side	3	EA	\$1,850.00	\$5,550.00	\$6,675.68	\$20,027.04	\$6,170.41	\$18,511.23
38	Installation of service valves (all sizes)	30	EA	\$175.00	\$5,250.00	\$621.65	\$18,649.50	\$485.06	\$14,551.80
	TOTAL				\$1,460,567.00		\$2,364,394.41		4,191.89
	Will vendor hold pricing firm? Renewal Option 1			5% Increase		NAICS ECI		3.2% Increase	
	Will vendor hold pricing firm? Renewal Option 2			5% In	5% Increase		NAICS ECI		ncrease
	Will vendor hold pricing firm? Renewal Option 3			5% Increase		NAICS ECI		3% Increase	
	Will vendor hold pricing firm? Renewal Option 4			5% Increase		NAICS ECI		3% Increase	

					ipeline, Inc.	Southern U	tility Group	W.L. Griffin Company, LLC.	
ITEM#	DESCRIPTION	APPROX. QTY		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	2-inch polyethylene gas main	30,000	LF	\$7.35	\$220,500.00	\$9.50	\$285,000.00	\$6.30	\$189,000.00
2	4-inch polyethylene gas main	10,000	LF	\$12.25	\$122,500.00	\$9.50	\$95,000.00	\$8.00	\$80,000.00
3	6-inch polyethylene gas main	500	LF	\$19.44	\$9,720.00	\$18.00	\$9,000.00	\$15.00	\$7,500.00
4	2-inch polyethylene gas main bore	5,000	LF	\$21.30	\$106,500.00	\$25.00	\$125,000.00	\$17.50	\$87,500.00
5	4-inch polyethylene gas main bore	1,250	LF	\$25.25	\$31,562.50	\$28.00	\$35,000.00	\$20.00	\$25,000.00
6	6-inch polyethylene gas main bore	200	LF	\$38.28	\$7,656.00	\$35.00	\$7,000.00	\$30.00	\$6,000.00
7	2-inch polyethylene gas main directional rock bore	500	LF	\$83.93	\$41,965.00	\$95.00	\$47,500.00	\$80.00	\$40,000.00
8	4-inch polyethylene gas main directional rock bore	500	LF	\$110.00	\$55,000.00	\$120.00	\$60,000.00	\$100.00	\$50,000.00
9	6-inch polyethylene gas main directional rock bore	100	LF	\$183.36	\$18,336.00	\$240.00	\$24,000.00	\$125.00	\$12,500.00

10	2-inch polyethylene valve installation	10	EA	\$100.00	\$1,000.00	\$550.00	\$5,500.00	\$100.00	\$1,000.00
11	4-inch polyethylene valve installation	10	EA	\$100.00	\$1,000.00	\$550.00	\$5,500.00	\$100.00	\$1,000.00
12	6-inch polyethylene valve installation	1	EA	\$100.00	\$100.00	\$650.00	\$650.00	\$100.00	\$100.00
13	2-inch polyethylene main tie-in	10	EA	\$1,500.00	\$15,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00
14	4-inch polyethylene main tie-in	10	EA	\$1,500.00	\$15,000.00	\$1,200.00	\$12,000.00	\$1,000.00	\$10,000.00
15	6-inch polyethylene main tie-in	2	EA	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00
16	1/2 and 3/4-inch PE short-side service, tap and tie over	30	EA	\$764.03	\$22,920.90	\$1,000.00	\$30,000.00	\$560.00	\$16,800.00
17	1/2 and 3/4-inch PE long-side service, tap and tie over	30	EA	\$1,041.86	\$31,255.80	\$1,200.00	\$36,000.00	\$800.00	\$24,000.00
18	2-inch PE short-side service, tap and tie over	5	EA	\$1,041.86	\$5,209.30	\$1,200.00	\$6,000.00	\$700.00	\$3,500.00
19	2-inch PE long-side service, tap and tie over	5	EA	\$1,666.98	\$8,334.90	\$1,400.00	\$7,000.00	\$1,200.00	\$6,000.00
20	4-inch PE short-side service, tap and tie over	2	EA	\$1,736.43	\$3,472.86	\$2,500.00	\$5,000.00	\$1,200.00	\$2,400.00
21	4-inch PE long-side service, tap and tie over	2	EA	\$1,736.43	\$3,472.86	\$2,750.00	\$5,500.00	\$1,200.00	\$2,400.00
22	2-inch tap, stop, or bottom-out steel tie-in	2	EA	\$2,083.72	\$4,167.44	\$7,000.00	\$14,000.00	\$4,500.00	\$9,000.00
23	4-inch tap, stop, or bottom-out steel tie-in	2	EA	\$7,987.61	\$15,975.22	\$9,000.00	\$18,000.00	\$6,000.00	\$12,000.00
24	6-inch tap, stop, or bottom-out steel tie-in	1	EA	\$8,612.73	\$8,612.73	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00
25	Blast/hammer rock removal price per linear ft.	600	LF	\$75.00	\$45,000.00	\$65.00	\$39,000.00	\$60.00	\$36,000.00
26	Placement of locate stations/markers	100	EA	\$50.00	\$5,000.00	\$15.00	\$1,500.00	\$5.00	\$500.00
27	1/2-inch PE short-side service and tap	650	EA	\$800.00	\$520,000.00	\$800.00	\$520,000.00	\$560.00	\$364,000.00
28	3/4-inch PE short-side service and tap	17	EA	\$800.00	\$13,600.00	\$850.00	\$14,450.00	\$560.00	\$9,520.00
29	1/2-inch PE long-side service and tap	323	EA	\$941.86	\$304,220.78	\$900.00	\$290,700.00	\$800.00	\$258,400.00
30	3/4-inch PE long-side service and tap	10	EA	\$941.86	\$9,418.60	\$950.00	\$9,500.00	\$800.00	\$8,000.00

31	2-inch polyethylene gas service – short-side	15	EA	\$2,100.00	\$31,500.00	\$1,000.00	\$15,000.00	\$1,000.00	\$15,000.00
32	2-inch polyethylene gas service – long-side	8	EA	\$4,736.40	\$37,891.20	\$1,200.00	\$9,600.00	\$1,500.00	\$12,000.00
33	4-inch polyethylene gas service – short-side	1	EA	\$5,430.84	\$5,430.84	\$2,200.00	\$2,200.00	\$1,500.00	\$1,500.00
34	4-inch polyethylene gas service – long-side	1	EA	\$7,472.87	\$7,472.87	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00
35	Adder for service lines over 500 feet long	20	EA	\$2,000.00	\$40,000.00	\$1,000.00	\$20,000.00	\$250.00	\$5,000.00
36	3/4-inch Dual Pressure service – short-side	6	EA	\$1,666.98	\$10,001.88	\$5,000.00	\$30,000.00	\$1,300.00	\$7,800.00
37	3/4-inch Dual Pressure service – long-side	3	EA	\$2,222.64	\$6,667.92	\$5,500.00	\$16,500.00	\$1,800.00	\$5,400.00
38	Installation of service valves (all sizes)	30	EA	\$208.37	\$6,251.10	\$500.00	\$15,000.00	\$10.00	\$300.00
		T	OTAL	\$1,795,716.70		\$1,842,850.00		\$1,333,020.00	
	Will vendor hold pricing firm? Renewal Option 1			5% Increase		СРІ		СРІ	
	Will vendor hold pricing firm? Renewal Option 2			5% Increase		СРІ		CPI	
Will vendor hold pricing firm? Renewal Option 3			_	5% Increase		СРІ		CPI	
_	Will vendor hold pricing firm? Renewal Option 4			5% Increase		СРІ		СРІ	

Recommended Vendor:

W.L. Griffin Company, LLC. 134 Hickory Flat Road Gillsville, GA 30543 706-677-1373 westly@wlgriffincompany.com